
This Question Paper Booklet contains 19 printed pages.

Bg ‡ÌZ-nÃ nwpÒVH$m Ho$ A›VJ©V 19 _w{–V n•> h¢ü&

Code No.

H$moS> Zß0 53/HIS/1

ECO NOM ICS
AW©emÛ
(318)

Day and Date of Ex am i na tion .......................................................................................................................................

(narjm H$m {XZ d {XZmßH$)
Sig na ture of Invigilators 1. ............................................................................

({ZarjH$m| Ho$ hÒVmja)
2. ............................................................................

Gen eral In struc tions :

1. Candidate must write his/her Roll Number on the first page of the Question Paper Booklet.

2. Please check the Question Paper Booklet to verify that the total pages of the booklet and the total
pages printed on the top of the first page tallies each other. Also check to see that the questions are in
sequential order.

3. Making any identification mark in the answer-book or writing roll number anywhere other than the
specified places will lead to disqualification of the candidate.

4. Write your Question Paper Booklet Code No. 53/HIS/1, Set u on the answer-book.

5. (a) The Question Paper Booklet is in English/Hindi medium only. However, if you wish, you can
answer in any one of the languages listed below :

Eng lish, Hindi, Urdu, Punjabi, Ben gali, Tamil, Malayalam, Kannada, Tel ugu, Mara thi,
Oriya, Guja rati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, San skrit and Sindhi.

You are re quired to in di cate the lan guage you have cho sen to an swer in the box pro vided in the
an swer-book.

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the question will be yours only.

gm_m›` AZwXoe Ö
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 Important Instructions 

1. This Question Paper Booklet contains two Question Papers—one based

on revised study material marked as NEW SYLLABUS and the other

based on pre-revised study material marked as OLD SYLLABUS.

2. NEW SYLLABUS is compulsory for those who have registered for 2015–16

(Block–I and Block–II) admission and Stream–II of 2016 admission.

(Those who are appearing in September–November, 2016 under

NEW SYLLABUS.)

3. OLD SYLLABUS is compulsory for those candidates who had registered

before 2015–16 (Block–I) admission.

4. Candidates are to answer only one Question Paper from the given two

Question Papers.

5. Candidates are not allowed to mix questions from the two given

Question Papers.

 _hŒdnyU© {ZX}e 

1. Bg ‡ÌZ-nÃ nwpÒVH$m _| Xmo ‡ÌZ-nÃ h¢—EH$ gßemo{YV A‹``Z gm_J´r na AmYm[aV h° {Og na 
Z`m nmR>ÁH´$_ Aß{H$V h° VWm Xygam gßemoYZ go nyd© A‹``Z gm_J´r na AmYm[aV h° {Og na
nwamZm nmR>ÁH´$_ Aß{H$V h°ü&

2. Z`m nmR>ÁH´$_ CZ narjm{W©̀ m| Ho$ {bE A{Zdm ©̀ h° {OZH$m Zm_mßH$Z 2015–16 („bm∞H$–I

Am°a „bm∞H$–II) VWm emIm–II, 2016 _| h˛Am h°ü& (CZHo$ {bE Omo {gVÂ~a–ZdÂ~a, 2016 _|
ZE nmR>ÁH´$_ Ho$ AßVJ©V narjm _| ~°R>Zo Om aho h¢ü&)

3. nwamZm nmR>ÁH´$_ CZ narjm{W©̀ m| Ho$ {bE A{Zdm ©̀ h° {OZH$m Zm_mßH$Z 2015–16 („bm∞H$–I)
Ho$ nhbo h˛Am h°ü&

4. narjmWu {XE JE Xmo ‡ÌZ-nÃm| _| go Ho$db EH$ ‡ÌZ-nÃ go hr CŒma {bI|ü&

5. narjmWu H$mo Xmo ‡ÌZ-nÃm| Ho$ ‡ÌZm| H$mo {_bmH$a CŒma XoZo H$s AZw_{V Zht h°ü&
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 NEW 
This Question Paper contains 32 questions.

Bg ‡ÌZ-nÃ Ho$ A›VJ©V 32 ‡ÌZ h¢ü&

ECONOMICS

AW©emÛ

(318)

Time : 3 Hours ] [ Maximum Marks : 100

g_` : 3 K Q>o ] [ nyUm™H$ : 100

Note : (i) All questions are compulsory.

(ii) Marks allotted to each question are indicated against it.

(iii) Each question from Question Nos. 1 to 10 has four alternatives—(A), (B), (C) 

and (D), out of which one is most appropriate. Select the correct answer

among the four alternatives and write it in your answer-book against

the number of the question. No extra time is allotted for attempting

multiple-choice questions.

{ZX}e : (i) g^r ‡ÌZm| Ho$ CŒma Xr{OEü&

(ii) ‡À òH$ ‡ÌZ Ho$ gm_Zo CgHo$ AßH$ {bIo JE h¢ü&

(iii) ‡ÌZ gßª`m 1 go 10 VH$ Ho$ ‡À òH$ ‡ÌZ _| Mma {dH$În—(H$), (I), (J) VWm (K) h¢, {OZ_| go
EH$ Cn`w∫$ h°ü& Mmam| {dH$Înm| _| go ghr CŒma MwZ| VWm AnZr CŒma-nwpÒVH$m _| ‡ÌZ gßª`m Ho$ gm_Zo CŒma 
{bI|ü& ~h˛-{dH$Înr ‡ÌZm| Ho$ {bE A{V[a∫$ g_` Zht {X`m OmEJmü&

1. The sum of deviations of the individual data elements from their mean is

(A) always greater than zero

(B) always less than zero

(C) sometimes greater than and sometimes less than zero depending on the

data elements

(D) always equal to zero 1

Ï`{∫$JV loUr _| _m‹` go {dMbZm| H$m `moJ

(H$) gX°d ey›` go A{YH$ hmoVm h°

(I) gX°d ey›` go H$_ hmoVm h°

(J$) ey›` go H$^r A{YH$ Am°a H$^r H$_ hmoVm h°, `h g_ßH$ VŒdm| na {Z ©̂a H$aVm h°

(K) gX°d ey›` hmoVm h°
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2. Price of a commodity falls from R15 per unit to R10 per unit but there is

no change in its quantity demanded. Its demand is

(A) perfectly inelastic

(B) perfectly elastic

(C) unit elastic

(D) more than unit elastic 1

EH$ dÒVw H$s H$s_V R15 ‡{V BH$mB© go H$_ hmoH$a R10 ‡{V BH$mB© hmo OmVr h° na›Vw BgH$s _m±J H$s 
_mÃm _| H$moB© n[adV©Z Zht hmoVm h°ü& BgH$s _m±J h°

(H$) nyU©V`m ~obmoM

(I) nyU©V`m bmoMXma

(J$) BH$mB© Ho$ ~am~a bmoMXma

(K) BH$mB© go A{YH$ bmoMXma

3. Which one of the following factors is variable in the law of supply relating

to a commodity?

(A) Prices of inputs used in production of the commodity

(B) Prices of other goods

(C) Price of the commodity

(D) Technology of production 1

EH$ dÒVw H$s Amny{V© Ho$ {Z`_ _| {ZÂZ{b{IV _| go H$m°Z-gm H$maH$ n[adV©Zerb hmoVm h°?

(H$) dÒVw Ho$ CÀnmXZ _| ‡`moJ H$s OmZo dmbr AmJVm| H$s H$s_V|

(I) A›` dÒVwAm| H$s H$s_V|

(J$) dÒVw H$s H$s_V

(K) CÀnmXZ H$s VH$ZrH$

4. What is the price elasticity of supply if the straight line supply curve cuts

price axis (Y -axis) at a point above the point of origin?

(A) Less than unit elastic

(B) More than unit elastic

(C) Unit elastic

(D) Perfectly inelastic 1
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`{X grYr aoIm Amny{V© dH´$, H$s_V Aj (Y -Aj) H$mo _yb{~›Xw Ho$ D$na {H$gr {~›Xw na H$mQ>Vm h°, Vmo Amny{V© 
H$s H$s_V bmoM ä`m hmoJr?

(H$) BH$mB© go H$_ bmoMXma

(I) BH$mB© go A{YH$ bmoMXma

(J$) BH$mB© Ho$ g_mZ bmoMXma

(K) nyU©V`m ~obmoM

5. Which one of the following is related to the flow concept?

(A) Money supply

(B) Population

(C) Population growth

(D) Wealth 1

{ZÂZ{b{IV _| go H$m°Z-gm ‡dmh H$s AdYmaUm go gß~ß{YV h°?

(H$) _w–m H$s Amny{V©

(I) OZgßª`m

(J$) OZgßª`m d•{’

(K) gÂn{Œm

6. Which one of the following is a final good?

(A) A machine purchased by a wholesaler

(B) Electricity used in a factory

(C) Wheat purchased by a retailer

(D) Machine purchased for use in a factory 1

{ZÂZ{b{IV _| go H$m°Z-gr Ap›V_ dÒVw h°?

(H$) WmoH$ {dHó$Vm ¤mam IarXr JB© EH$ _erZ

(I) H$maImZo _| ‡`moJ H$s OmZo dmbr {~Obr

(J$) IwXam {dH´o$Vm ¤mam H´$` {H$`m J`m Johˇ±

(K) H$maImZo _| ‡`moJ hoVw IarXr JB© _erZ

7. Gross value added at market price equals

(A) Value of output – Intermediate consumption

(B) Value of output + Intermediate consumption

(C) Value of output – Intermediate consumption – Depreciation

(D) Value of output – Intermediate consumption – Depreciation – Net indirect

taxes 1
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~mOma H$s_V na gH$b _yÎ`d•{’ ~am~a hmoVm h°

(H$) CÀnmXZ H$m _yÎ` – _‹`dVu Cn^moJ

(I) CÀnmXZ H$m _yÎ` + _‹`dVu Cn^moJ

(J$) CÀnmXZ H$m _yÎ` – _‹`dVu Cn^moJ – _yÎ`ımg

(K) CÀnmXZ H$m _yÎ` – _‹`dVu Cn^moJ – _yÎ`ımg – {Zdb A‡À`j-H$a

8. Value of investment multiplier is

(A)
Change in investment

   Change in income

(B)
                      1                         

1– Marginal propensity to save

(C)
                       1                                   

Marginal propensity to consume

(D)
                          1                            

1– Marginal propensity to consume 1

{Zdoe JwUH$ H$m _yÎ` hmoVm h°

(H$)
 {Zdoe _| n[adV©Z 
 Am` _| n[adV©Z 

(I)
            1             
 1– gr_mßV ~MV ‡d•{Œm

(J)
           1            
 gr_mßV Cn^moJ ‡d•{Œm

(K)
            1               
 1– gr_mßV Cn^moJ ‡d•{Œm

9. Which one of the following is not an instrument of fiscal policy?

(A) Taxation

(B) Variable reserve ratio

(C) Public expenditure

(D) Public borrowing 1
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{ZÂZ{b{IV _| go H$m°Z-gm amOH$mofr` Zr{V H$m CnH$aU Zht h°?

(H$) H$amYmZ

(I) n[adV©Zerb O_m AZwnmV

(J$) gmd©O{ZH$ Ï``

(K) gmd©O{ZH$ G$U

10. Find out the break-even point in the schedule given below :

Income (R in crore) Consumption (R in crore)

0 500

500 750

1,000 1,000

1,500 1,250

2,000 1,500

(A) R500 crore

(B) R1,000 crore

(C) R1,500 crore

(D) R2,000 crore 1

{ZÂZ{b{IV AZwgyMr _| g_ÒVa {~›Xw H$s Am` Ho$ ÒVa H$mo kmV H$s{OE :

Am` (R H$amoãS> _|) Cn^moJ (R H$amoãS> _|)

0 500

500 750

1,000 1,000

1,500 1,250

2,000 1,500

(H$) R500 H$amoãS>

(I) R1,000 H$amoãS>

(J$) R1,500 H$amoãS>

(K) R2,000 H$amoãS>
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11. Calculate median from the following frequency distribution : 3

Marks : 10 20 30 40 50 60 70 80

Number of students : 2 8 16 26 20 16 7 4

{ZÂZ{b{IV Amd•{Œm {dVaU go _mp‹`H$m H$s JUZm H$s{OE :

AßH$ : 10 20 30 40 50 60 70 80

N>mÃm| H$s gßª`m : 2 8 16 26 20 16 7 4

12. What is meant by positive economics? Give two examples of positive economics. 3

dmÒV{dH$ AW©emÒÃ go ä`m A{^‡m` h°? dmÒV{dH$ AW©emÛ Ho$ Xmo CXmhaU Xr{OEü&

13. Price of a commodity falls from R10 per unit to R8 per unit and as a result

its demand rises from 40 units to 50 units. Calculate the price elasticity of

demand of the commodity. 3

EH$ dÒVw H$s H$s_V R10 ‡{V BH$mB© go H$_ hmoH$a R8 ‡{V BH$mB© hmo OmVr h° Am°a n[aUm_ÒdÍ$n
BgH$s _m±J 40 BH$mB© go ~ãT>H$a 50 BH$mB© hmo OmVr h°ü& dÒVw H$s _m±J H$s H$s_V bmoM H$s JUZm
H$s{OEü&

14. How is the supply of a commodity affected by increase in price of other goods?

Explain. 3

{H$gr dÒVw H$s Amny{V© A›` dÒVwAm| H$s H$s_V _| d•{’ hmoZo na {H$g ‡H$ma ‡^m{dV hmoVr h°?
g_PmBEü&

15. At a given level of output, marginal cost and marginal revenue of a firm are

equal. Is the firm necessarily in equilibrium? Explain. 3

CÀnmXZ Ho$ {H$gr {XE JE ÒVa na {H$gr \$_© H$s gr_m›V bmJV VWm gr_m›V AmJ_ g_mZ h¢ü&
ä`m \$_© AdÌ` hr g›VwbZ _| h°? g_PmBEü&

16. Explain ‘real flow’ and ‘money flow’ of income in a two-sector economy. 3

EH$ Xmo-joÃr` AW©Ï`dÒWm _| Am` Ho$ "dmÒV{dH$ ‡dmh' VWm "_m°{–H$ ‡dmh' H$mo g_PmBEü&
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17. Calculate ‘net value added at factor cost’ from the data given below : 3

    R (in lakh)

(i) Change in stock    600

(ii) Intermediate consumption expenditure  10,000

(iii) Sales  20,000

(iv) Indirect taxes    500

(v) Subsidies    100

(vi) Depreciation    300

{ZÂZ{b{IV Am±H$ãS>m| go "gmYZ bmJV na {Zdb _yÎ`d•{’' H$s JUZm H$s{OE Ö

     R (bmI> _|)
(i) ÒQ>m∞H$ _| n[adV©Z     600 
(ii) _‹`dVu Cn^moJ Ï``    10,000

(iii) {~H´$s    20,000

(iv) A‡À`j-H$a      500

(v) Am{W©H$ AZwXmZ      100

(vi) _yÎ`ımg      300

18. What is meant by marginal propensity to consume? State any four factors that

determine the marginal propensity to consume in an economy. 3

gr_m›V Cn^moJ ‡d•{Œm go ä`m A{^‡m` h°? Eogo {H$›ht Mma H$maH$m| H$m CÑoI H$s{OE, Omo {H$gr
AW©Ï`dÒWm _| gr_m›V Cn^moJ ‡d•{Œm H$m {ZYm©aU H$aVo h¢ü&

19. What are meant by revenue receipts and capital receipts in a government

budget? Give one example of each. 3

gaH$ma Ho$ ~OQ> _| amOÒd ‡m{·`m| VWm ny±OrJV ‡m{·`m| go ä`m A{^‡m` h°? ‡À òH$ H$m EH$ CXmhaU
Xr{OEü&

20. The following hypothetical data relate to the government budget :

    R (in arab)

(i) Borrowings 15  

(ii) Revenue receipts 100  

(iii) Revenue expenditure 130  

(iv) Interest payments 5  

(v) Capital receipts 90  

Calculate the (a) revenue deficit, (b) fiscal deficit, and (c) primary deficit. 3
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{ZÂZ{b{IV H$mÎn{ZH$ Am±H$ãS>oß gaH$ma Ho$ ~OQ> go gß~ß{YV h¢ :

     R (Aa~> _|)

(i) G$U 15 

(ii) amOÒd ‡m{·`m± 100 

(iii) amOÒd Ï`` 130  

(iv) „`mO ^wJVmZ 5 

(v) ny±OrJV ‡m{·`m± 90 

(H$) amOÒd KmQ>m, (I) amOH$mofr` KmQ>m VWm (J) ‡mW{_H$ KmQ>m H$s JUZm H$s{OEü&

21. Explain the steps involved in the calculation of mean deviation. 4

_m‹` {dMbZ H$s JUZm H$aZo _| ‡`w∫$ MaUm| H$mo g_PmBEü&

22. Why do economic problems arise? Explain. 4

Am{W©H$ g_Ò`mE± ä`m| CÀnfi hmoVr h¢? g_PmBEü&

23. Describe the effect of increase in prices of related goods on the demand of

a commodity. 4

{H$gr dÒVw H$s _m±J na gß~ß{YV dÒVwAm| H$s H$s_Vm| _| d•{’ Ho$ ‡^md H$m dU©Z H$s{OEü&

24. Suppose that total fixed cost is R120. Find out total variable cost and marginal

cost at each level of output from the following data : 4

Output (in units) : 1 2 3 4

Average total cost (in R) : 240 160 140 160

_mZ br{OE {H$ Hw$b pÒWa bmJV R120 h°ü& {ZÂZ{b{IV Am±H$ãS>m| go CÀnmXZ Ho$ ‡À òH$ ÒVa na Hw$b
n[adV©Zerb bmJV VWm gr_m›V bmJV H$s JUZm H$s{OE :

CÀnmXZ (BH$mB`m| _|) : 1 2 3 4

Am°gV Hw$b bmJV (R _|) : 240 160 140 160

318/HIS/110A 10



25. What happens when there is (a) excess demand, and (b) excess supply of 

a commodity in a market? Explain. 4

O~ ~mOma _| EH$ dÒVw H$s (H$) _m±J Am{Yä` Am°a (I) ny{V© Am{Yä` H$s pÒW{V hmo, Vmo ä`m
hmoVm h°? g_PmBEü&

26. Give the meaning of the following : 4

(a) Bank rate

(b) Open market operations

{ZÂZ{b{IV Ho$ AW© ~VmBE :

(H$) ~¢H$ Xa

(I) Iwbo ~mOma H$s {H´$`mE±

27. What are index numbers? State any four uses of index numbers. 6

gyMH$mßH$ ä`m hmoVo h¢? gyMH$mßH$m| Ho$ H$moB© Mma Cn`moJ ~VmBEü&

28. Using ‘assumed mean method’, calculate Karl Pearson’s coefficient of

correlation from the following data : 6

Price (in R) : 20 40 60 80 100 120 140

Supply (in kg) : 400 200 500 1000 400 1100 1200

"H$pÎnV _m‹` {d{Y' H$m ‡`moJ H$aVo h˛E {ZÂZ{b{IV Am±H$ãS>m| go H$mb© nr`g©Z Ho$ ghgß~ßY JwUmßH$ H$s
JUZm H$s{OE :

H$s_V (R _|) : 20 40 60 80 100 120 140

Amny{V© ({H$0 Jḿ0 _|) : 400 200 500 1000 400 1100 1200

29. Explain the following properties of indifference curves : 6

(a) Convex to origin

(b) Slopes downwards from left to right

AZ{Y_mZ dH´$m| Ho$ {ZÂZ{b{IV JwUm| H$mo g_PmBE :

(H$) _yb{~›Xw H$s Amoa CfiVmoXa

(I) ~mE± go XmE± ZrMo H$s Amoa T>mby
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30. State and explain the ‘law of variable proportions’ in the context of total product 

and marginal product. Use diagram to explain. 6

"n[adVu AZwnmVm| Ho$ {Z`_' H$m CÑoI H$s{OE VWm Hw$b CÀnmX Am°a gr_m›V CÀnmX Ho$ g›X^© _| {MÃ
H$m ‡`moJ H$aHo$ BgH$s Ï`mª`m H$s{OEü&

( For Blind Candidates only in lieu of Q. No. 30 )

( Ho$db —{Ô>hrZ narjm{W©̀ m| Ho$ {bE ‡ÌZ gßª`m 30 Ho$ ÒWmZ na )

What is production function? State and explain the law of variable proportions

in the context of total product and marginal product. 6

CÀnmXZ \$bZ go ä`m A{^‡m` h°? n[adVu AZwnmVm| Ho$ {Z`_ H$m CÑoI H$s{OE VWm Hw$b CÀnmX Am°a
gr_m›V CÀnmX Ho$ g›X^© _| BgH$s Ï`mª`m H$s{OEü&

31. Calculate (a) national income, and (b) private income from the data given

below : 6

    R (in crore)

(i) Consumption of fixed capital 100 

(ii) Compensation of employees 700 

(iii) Income from property and entrepreneurship

   accruing to government 40 

(iv) Savings of non-departmental enterprises 60 

(v) National debt interest 10 

(vi) Rent 250 

(vii) Interest 200 

(viii) Net factor income from abroad 10 

(ix) Profit 150 

(x) Mixed income of self-employed 400 

(xi) Net current transfers from government 30 

(xii) Net current transfers from rest of the world 20 

(xiii) Net indirect taxes 50 
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{ZÂZ{b{IV Am±H$ãS>m| go (H$) amÔ¥>r` Am` VWm (I) {ZOr Am` H$s JUZm H$s{OE Ö

     R (H$amoãS> _|)

(i) AMb ny±Or H$m Cn^moJ 100 

(ii) H$_©Mm[a`m| H$m nm[al{_H$ 700  

(iii) gaH$ma H$mo gßn{Œm Am°a C⁄_erbVm go hmoZo dmbr Am` 40 

(iv) J°a-{d^mJr` C⁄_m| H$s ~MV 60 

(v) amÔ¥>r` G$U na „`mO 10 

(vi) bJmZ >({H$am`m) 250 

(vii) „`mO 200 

(viii) {dXoem| go ‡m· {Zdb gmYZ Am` 10 

(ix) bm^ 150 

(x) Òd{Z`mo{OVm| H$s {_{lV Am` 400 

(xi) gaH$ma go {Zdb Mmby hÒVmßVaU 30 

(xii) eof {dÌd go {Zdb Mmby hÒVmßVaU 20 

(xiii) {Zdb A‡À`j-H$a 50 

32. Explain the following functions of money with examples : 6

(a) Medium of exchange

(b) Measure of value

_w–m Ho$ {ZÂZ{b{IV H$m`m] H$mo CXmhaU g{hV g_PmBE :

(H$) {d{Z_` H$m _m‹`_

(I) _yÎ` H$m _mnH$
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 OLD 
This Question Paper contains 23 questions.

Bg ‡ÌZ-nÃ Ho$ A›VJ©V 23 ‡ÌZ h¢ü&

ECONOMICS

AW©emÛ

(318)

Time : 3 Hours ] [ Maximum Marks : 100

g_` : 3 K Q>o ] [ nyUm™H$ : 100

Note : (i) This Question Paper consists of two Sections, viz., ‘A’ and ‘B’.

(ii) All questions from Section ‘A’ are to be attempted.

(iii) Section ‘B’ has got more than one option. Candidates are required to

attempt questions from one option only.

{ZX}e : (i) Bg ‡ÌZ-nÃ _| Xmo I S> h¢—I S> "A' VWm I S> "~'ü&

(ii) I S> "A' Ho$ g^r ‡ÌZm| H$mo hb H$aZm h°ü&

(iii) I S> "~' _| EH$ go A{YH$ {dH$În h¢ü& narjm{W©`m| H$mo Ho$db EH$ {dH$În Ho$ hr ‡ÌZm| Ho$ CŒma XoZo h¢ü&

SECTION–A

I S>–A

1. Define consumption. 2

Cn^moJ H$s n[a^mfm Xr{OEü&

2. What is meant by disinvestment? 2

{d{Zdoe ä`m hmoVm h°?

3. Give two examples each of consumer durable and producer durable goods. 2

XrKm}n`moJr Cn^mo∫$m dÒVwAm| Am°a XrKm}n`moJr CÀnmXH$ dÒVwAm| Ho$ Xmo-Xmo CXmhaU Xr{OEü&
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4. Define economic growth. 2

Am{W©H$ gßd•{’ H$s n[a^mfm Xr{OEü&

5. Define statistics in singular sense. 2

EH$dMZ Ho$ Í$n _| gmßpª`H$s H$s n[a^mfm Xr{OEü&

6. State any two precautions that are taken while calculating national income

by income method. 2

Am` {d{Y ¤mam amÔ¥>r` Am` H$m n[aH$bZ H$aVo g_` ~aVr OmZo dmbr H$moB© Xmo gmdYm{Z`m± ~VmBEü&

7. State any two uses of national income estimates. 2

amÔ¥>r` Am` Ho$ AZw_mZm| Ho$ H$moB© Xmo Cn`moJ ~VmBEü&

8. Give two examples each of factor income and non-factor income. 2

gmYZ Am` Am°a J°a-gmYZ Am` Ho$ Xmo-Xmo CXmhaU Xr{OEü&

9. The marginal revenue of selling one unit of output is R80 and when two units

are sold the marginal revenue is R70. At what price are two units sold? 2

CÀnmXZ H$s EH$ BH$mB© ~oMZo na gr_m›V AmJ_ R80 h° Am°a O~ Xmo BH$mB© ~oMr OmVr h¢ Vmo gr_m›V
AmJ_ R70 h°ü& BgH$s Xmo BH$mB`m± {H$g H$s_V na ~oMr JB™?

10. Is India a developing economy? Give four reasons in support of your answer. 5

ä`m ^maV EH$ {dH$mgerb AW©Ï`dÒWm h°? AnZo CŒma Ho$ g_W©Z _| Mma H$maU Xr{OEü&
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11. Prepare a ‘less than’ cumulative frequency distribution from the following

frequency distribution : 5

{ZÂZ{b{IV Amd•{Œm {dVaU go EH$ "go H$_' gßM`r Amd•{Œm {dVaU ~ZmBE :

Class

dJ©

Frequency

Amd•{Œm

10–20 12

20–30 20

30–40 18

40–50 10

50–60 5

12. Describe the role of ‘bank rate’ in regulating money supply. 5

_w–mny{V© Ho$ {Z`ßÃU _| "~¢H$ Xa' H$s ŷ{_H$m H$m dU©Z H$s{OEü&

13. Calculate net value added at market price from the following data : 5

    R (in crore)

(i) Opening stock 20 

(ii) Sales 600 

(iii) Intermediate consumption expenditure 350 

(iv) Depreciation 50 

(v) Closing stock 30 

(vi) Net indirect taxes 60 

(vii) Interest 40 

{ZÂZ{b{IV Am±H$ãS>m| go ~mOma _yÎ` na {Zdb _yÎ`d•{’ H$m n[aH$bZ H$s{OE Ö

     R (H$amoãS> _|)
(i) ‡mapÂ^H$ ÒQ>m∞H$ 20 

(ii) {~H´$s 600 

(iii) _‹`dVu Cn^moJ Ï`` 350 

(iv) _yÎ`ımg> 50 

(v) Ap›V_ ÒQ>m∞H$ 30   
(vi) {Zdb A‡À`j-H$a 60 

(vii) „`mO 40 
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14. State any five functions of the Planning Commission. 5

`moOZm Am`moJ Ho$ H$moB© nm±M H$m ©̀ ~VmBEü&

15. Complete the following table : 5

{ZÂZ{b{IV Vm{bH$m H$mo nyam H$s{OE :

Output (in units)

CÀnmXZ (BH$mB`m| _|)
0 1 2 3 4

Total cost

Hw$b bmJV
12 22 26 32 46

Total variable cost

Hw$b n[adVu bmJV
— — — — —

16. Calculate national income from the following data : 5

    R (in crore)

(i) Compensation of employees 2,000 

(ii) Rent 200 

(iii) Interest 400 

(iv) Depreciation 100 

(v) Profit 1,000 

(vi) Net factor income from abroad 50 

(vii) Mixed income of self-employed 5,000 

(viii) Net indirect taxes 700 

{ZÂZ{b{IV Am±H$ãS>m| go amÔ¥>r` Am` H$m n[aH$bZ H$s{OE :

     R (H$amoãS> _|)
(i) H$_©Mm[a`m| H$m nm[al{_H$ 2,000 

(ii) {H$am`m 200 

(iii) „`mO 400 

(iv) _yÎ`ımg> 100 

(v) bm^ 1,000 

(vi) {dXoem| go {Zdb gmYZ Am` 50 

(vii) Òd{Z`mo{OVm| H$s {_{lV Am` 5,000 

(viii) {Zdb A‡À`j-H$a 700 
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17. Explain the reasons for the inverse relationship between price and quantity

demanded of a commodity. 8

dÒVw H$s H$s_V Am°a _m±J-_mÃm _| {dnarV gß~ßY Ho$ H$maUm| H$s Ï`mª`m H$s{OEü&

18. Explain four main causes of economic crisis of 1991. 8

1991 Ho$ Am{W©H$ gßH$Q> Ho$ Mma _wª` H$maUm| H$s Ï`mª`m H$s{OEü&

19. Calculate arithmetic mean from the following data by step deviation method : 8

nX {dMbZ {d{Y ¤mam {ZÂZ{b{IV Am±H$ãS>m| go AßH$J{UVr` _m‹` H$m n[aH$bZ H$s{OE :

Marks

AßH$

Number of students

{d⁄m{W©`m| H$s gßª`m

0–20 20

20–40 40

40–60 30

60–80 10

20. Explain the sources of receipts in the government budget. 8

gaH$ma Ho$ ~OQ> _| ‡m{·`m| Ho$ ÚmoVm| H$s Ï`mª`m H$s{OEü&
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SECTION–B

I S>ç~

OP TION–I

{dH$ÎnçI

( Role of Agriculture and Industry in India’s Economic Development )

( ^maV Ho$ Am{W©H$ {dH$mg _| H•${f Am°a C⁄moJ H$s ŷ{_H$m )

21. State two problems created by subdivision and fragmentation of landholdings. 2

OmoVm| Ho$ Cn{d^mOZ Am°a AnIßS>Z go hmoZo dmbr Xmo g_Ò`mE± ~VmBEü&

22. How does industrial sector help in increasing irrigation facilities? Explain. 5

qgMmB© gw{dYmAm| H$mo ~ãT>mZo _| Am°⁄mo{JH$ joÃ {H$g ‡H$ma ghm`H$ h°? g_PmBEü&

23. Explain four points of importance of small-scale industries in Indian economy. 8

^maVr` AW©Ï`dÒWm _| bKw C⁄moJm| Ho$ _hŒd Ho$ Mma {~›XwAm| H$s Ï`mª`m H$s{OEü&

OPTION–II

{dH$ÎnçII

( Population and Economic Development )

( OZgßª`m Am°a Am{W©H$ {dH$mg )

21. What is meant by life expectancy? 2

OrdZ ‡À`mem ä`m h°?

22. Explain the role of education in containing population. 5

OZgßª`m d•{’ H$mo amoH$Zo _| {ejm H$s ŷ{_H$m H$s Ï`mª`m H$s{OEü&

23. Explain the effects of high growth rate of population on environment and

forests. 8

OZgßª`m H$s D±$Mr d•{’ Xa H$m n`m©daU Am°a dZm| na ‡^md H$s Ï`mª`m H$s{OEü&

H H H
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